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BACHELOR OF SCIENCE (B.Sc.)
Term-End Examination
ST June, 2014

LIFE SCIENCE
LSE-05 : PHYSIOLOGY

Time : 2 hours Maximum Marks : 50

Note: Use separate answer sheets for Part I and Part II.
Be brief and precise in your answers. Draw neat
and labelled diagrams, wherever necessary.

PART 1
Animal Physiology

Note : Question No. 1 is compulsory. Attempt any
four questions from question nos. 2 to 6.

1. (a) Differentiate between the following : Ix2=2
(i) Osmoregulators and Osmoconformers

(ii) Pheromones and Hormones

(» Fillin the blanks : =2
(i) The region between two “Z”-lines is
called _ which is a functional
unit of myofibril.

(ii) The process by which spermatid
transforms into spermatozoa is known
as
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(iii) The leaping action potential between
nodes of Ranvier is known as

(iv) As the amount of carbon dioxide
in the blood increases, the pH of blood
plasma .

(¢) Give the exact location of the following in the
1
body : —x2=1
ody P

(i) Juxtaglomerular Apparatus
(ii) Lacteal

2. (a) Describe the digestion of proteins. 4
(b) Define food absorption. 1
8. (a) How is CO, transported by blood ? 4
(b) Define Tidal Volume (T.V.). 1

4. (a) Describe the role of Green glands of
crustaceans in excretion. 3

(b) Diagrammatically depict the Hypothalamo-
Hypophyseal portal system. 2

5. (a) Explain the electrical activity in the

mammalian heart, with the help of a
diagram. 3

(b) Differentiate between acclimation and
acclimatization. 2

6. Write short notes on any #wo of the
following : 2 é x2=5

(a) Role of calcium and regulatory proteins in
the contraction of vertebrate skeletal
muscles

(b) Menstrual Cycle
(¢) Neurotransmitters
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PART II
Plant Physiology

Note : Question No. 7 is compulsory. Attempt any

four questions from question nos. 8 to 12.

Draw diagrams wherever necessary.

7. Fill in the blanks (Attempt any five parts) :

@)

(ii)
(iii)

(iv)
(v)

(vi)
(vii)
8. (a)

(b)
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Movement of water through cell walls,
intercellular spaces and non-living cells of
xylem is called pathway.

ion is a component of a chlorophyll
molecule.

is the cold treatment given for
flower induction.
is a synthetic auxin.
protects nitrogenase against O
and also functions as a reservoir of O,.

are cellulose pipelines running
throughout the plant.

Plants accumulate alcohol dehydrogenase in
roots in response to

Compare the structure and functions of
xylem and phloem tissues.

Name two organisms that are capable of
fixing atmospheric nitrogen.

3 P.T.O.
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9. (a) List the various plant hormones and

discuss the practical applications of each. 2-

(b) Define photoperiodism. How are plants

classified according to their requirement for

day length for flowering ? 2%
10. Describe roles of light reactions in
photosynthesis. 5
| OR

With the help of a flow diagram explain Calvin
cycle. 5

11. (a) List the elements essential for plants and
describe the role and deficiency symptoms

of any two. 3

(b) What are the different kinds of stress that
plants may be subjected to ? 2

12. Write short notes on any #wo of the
following : 2é x2=5

(i) Nitrate assimilation

(ii) Miinch pressure flow model for transport in

phloem
(iii) Biological clock
(iv) CAM plants
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